Identities involving harmonic numbers and inverses of binomial coefficients

Wuyungaowa *

Department of Mathematics, College of Sciences and Technology, Inner Mongolia University Huhhot 010021, P. R. China

Abstract

In this paper, we give some identities involving the harmonic numbers and the inverses of binomial coefficients.

Keywords: Inverses of binomial coefficients; Harmonic numbers; Combinatorial identities

1. Introduction and preliminaries

Binomial coefficients play an important role in many areas of mathematics, including combinatorial analysis, graph theory, number theory, statistics and probability. The inverses of binomial coefficients are also prolific in the mathematical literature, and the readers are referred to the papers [1–4] for many results on the identities involving the inverses of binomial coefficients.

In this paper, we establish some finite sums and some infinite series which involve the harmonic numbers and the inverses of binomial coefficients. The identities of this type might not have been presented before.

Lemma 1 (see[3]). Let n and k be any nonnegative integers, then

$$\binom{n}{k}^{-1} = (n+1) \int_0^1 t^k (1-t)^{n-k} dt.$$

Lemma 2. Let $m \leq n-1$ be a nonnegative integer, then

$$\sum_{k=m+1}^{n} \binom{n}{k} \frac{2^{k}(-1)^{k}}{(k-m)} = 2^{m} \sum_{k=0}^{m} \binom{m}{k} (-1)^{k} \sum_{j=1}^{n} \binom{k+n-j}{k} \frac{(-1)^{j}-1}{j}.$$

^{*}E-mail addresses: wuyungw@163.com(Wuyungaowa)

Proof. Let $f(z) = \sum_{k=m+1}^{n} \frac{(2z)^k (-1)^k}{k-m} = (-1)^{m+1} (2z)^m \ln(1+2z)$. Then

$$\sum_{k=m+1}^{n} \binom{n}{k} \frac{2^k (-1)^k}{(k-m)} = [z^n] \frac{2^m (-1)^{m+1}}{1-z} \frac{z}{1-z}^m \ln 1 + \frac{2z}{1-z}$$
$$= 2^m \sum_{k=0}^{m} \binom{m}{k} (-1)^k \sum_{j=1}^{n} \binom{k+n-j}{k} \frac{(-1)^j - 1}{j}.$$

This completes the proof.

In a similar way, we can obtain the following lemmas.

Lemma 3. Let $m \leq n-1$ be a nonnegative integer, then

$$\sum_{k=m+1}^{n} \binom{n}{k} \frac{(-1)^k}{k-m} = \sum_{k=0}^{m} \binom{m}{k} (-1)^{m+1-k} \sum_{j=1}^{n} \binom{k+n-j}{k} \frac{1}{j}.$$

Lemma 4. Let j be a nonnegative integer, then

$$\sum_{k=j}^{n} \binom{n}{k}^{-1} = \frac{n+1}{2^{n+2}} \sum_{k=1}^{n+1} \frac{2^k}{k} + \sum_{i=0}^{j} \sum_{k=1}^{n+1-i} \binom{j}{i} (-1)^{j-i} \frac{2^{k+i}}{k},$$

$$\sum_{k=j}^{n} \binom{n}{k}^{-1} (-1)^k = \frac{n+1}{n+2} (-1)^n + (-1)^j \binom{n+1}{j}^{-1}.$$

The first identity of this lemma can be derived from [4, Theorem 2.1], and the second identity can be found in [4, Corollary 2.3].

Lemma 5. Let j be a nonnegative integer, then

$$\sum_{k=j}^{\infty} {n+k \choose k}^{-1} = \frac{n}{n-1} {n+j-1 \choose j}^{-1},$$

$$\sum_{k=j}^{\infty} {n+k \choose k}^{-1} (-1)^k = n2^{n-1} \ln 2 + n \sum_{k=0}^{n-1} {n-1 \choose k} \sum_{i=1}^{j+k} \frac{(-1)^i}{i}.$$

The identities presened in this lemma can be found in [4, Corollary 3.7].

2. Summations involving the inverses of binomial coefficients

In this section, we present some summations involving the inverses of binomial coefficients.

Theorem 1. Let j be a positive integer, then

$$\sum_{k=j}^{n} \binom{n}{k}^{-1} \frac{1}{k} = \frac{1}{2^{n+1}} \sum_{k=1}^{n} \frac{2^k}{k} + \sum_{i=0}^{j-1} \sum_{k=1}^{n-i} \binom{j}{i} (-1)^{j-i} \frac{2^{k+i}}{k},$$

$$\sum_{k=j}^{n} \binom{n}{k}^{-1} \frac{(-1)^k}{k} = \frac{1}{n+1} (-1)^n + (-1)^j \binom{n}{j-1}^{-1}.$$

Proof. Note that

$$\sum_{k=j}^{n} {n \choose k}^{-1} \frac{1}{k} = \frac{1}{n} \sum_{k=j-1}^{n-1} {n-1 \choose k}^{-1}$$

and

$$\sum_{k=j}^{n} \binom{n}{k}^{-1} \frac{(-1)^k}{k} = \frac{1}{n} \sum_{k=j-1}^{n-1} \binom{n-1}{k}^{-1} (-1)^{k+1}.$$

Then by Lemma 4, we obtain the desired results.

Theorem 2. Let j be a nonnegative integer, then

$$\sum_{k=j}^{n} \binom{n+k}{k}^{-1} = \frac{n}{n-1} \binom{n+j-1}{j}^{-1} - \binom{2n}{n+1}^{-1},$$

$$\sum_{k=i}^{n} \binom{n+k}{k}^{-1} (-1)^k = -n(-1)^j \sum_{k=0}^{n-1} \binom{n-1}{k} \sum_{i=j+1}^{n+1} \frac{(-1)^{k+i}}{k+i}.$$

Proof. By Lemma 1, we have

$$\sum_{k=j}^{n} {n+k \choose k}^{-1} = (n+1) \int_{0}^{1} (1-t)^{n} \sum_{k=j}^{n} t^{k} dt + \int_{0}^{1} (1-t)^{n} \sum_{k=j}^{n} k t^{k} dt$$

$$= (n+1+j) \int_{0}^{1} (1-t)^{n-1} t^{j} dt - (2n+1) \int_{0}^{1} (1-t)^{n-1} t^{n+1} dt$$

$$+ \int_{0}^{1} (1-t)^{n-2} t^{j+1} dt - \int_{0}^{1} (1-t)^{n-2} t^{n+1} dt$$

$$= \frac{n+1+j}{n+j} \binom{n+j-1}{j}^{-1} - \binom{2n}{n+1}^{-1} + \frac{1}{n+j} \binom{n+j-1}{j+1}^{-1} - \frac{1}{2n} \binom{2n-1}{n+1}^{-1} = \frac{n}{n-1} \binom{n+j-1}{j}^{-1} - \binom{2n}{n+1}^{-1},$$

which gives the first identity. By Lemmas 1, 2 and 3, we can also establish the second identity. \Box

Theorem 3. Let j be a positive integer, then

$$\sum_{k=j}^{n} {n+k \choose k}^{-1} \frac{1}{k} = \frac{1}{n} {n+j-1 \choose n}^{-1} - {2n \choose n}^{-1},$$

$$\sum_{k=j}^{n} {n+k \choose k}^{-1} \frac{(-1)^k}{k} = \frac{(-1)^n}{2(n+1)} {2n+1 \choose n}^{-1} - (-1)^j \sum_{k=0}^{n} {n \choose k} \sum_{i=j}^{n+2} \frac{(-1)^{k+i}}{k+i}.$$

Proof. By Theorem 2, we have

$$\begin{split} &\sum_{k=j}^{n} \binom{n+k}{k}^{-1} \frac{1}{k} = \frac{1}{n+1} \sum_{i=j-1}^{n-1} \binom{n+k+1}{k}^{-1} \\ &= \frac{1}{n} \binom{n+j-1}{n}^{-1} - \binom{2n+2}{n+2}^{-1} - \frac{1}{n+1} \binom{2n+1}{n}^{-1} + \binom{2n+2}{n+1}^{-1} \\ &= \frac{1}{n} \binom{n+j-1}{n}^{-1} - \binom{2n}{n}^{-1}, \end{split}$$

then the first identity can be obtained. Next, since

$$\begin{split} &\sum_{k=j}^{n} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k} = -\frac{1}{n+1} \sum_{i=j-1}^{n-1} \binom{n+k+1}{k}^{-1} (-1)^k \\ &= (-1)^{j-1} \sum_{k=0}^{n} \binom{n}{k} \sum_{i=j}^{n+2} \frac{(-1)^{k+i}}{k+i} + \frac{(-1)^n}{n+1} \binom{2n+1}{n}^{-1} - \binom{2n+2}{n+1}^{-1}, \end{split}$$

then the second identity can also be obtained.

Theorem 4. Let j be a positive integer, then

$$\sum_{k=j}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k} = \frac{1}{n} \binom{n+j-1}{n}^{-1},$$

$$\sum_{k=i}^{\infty} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k} = -2^n \ln 2 - \sum_{k=1}^n \binom{n}{k} \sum_{i=1}^{j+k-1} \frac{(-1)^i}{i}.$$

Proof. Note that

$$\sum_{k=j}^{\infty} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k} = -\frac{1}{n+1} \sum_{k=j-1}^{\infty} \binom{n+k+1}{k}^{-1} (-1)^k.$$

Thus in view of Lemma 5, we establish the second identity. In a similar way, we can establish the first identity.

Theorem 5. Let $H_k = \sum_{j=1}^k \frac{1}{j}$ be the harmonic numbers, then

$$\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k^2} = \frac{\pi^2}{6} + \frac{1}{(n+1)^2} + \sum_{k=1}^{n+1} \binom{n+1}{k} \frac{(-1)^k H_k}{k},$$

$$\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k^2} = \frac{2^{n+1}}{n+1} \sum_{k=1}^{n+1} \frac{1}{k2^k} - \ln 2 - \frac{\pi^2}{12}$$

$$+ \sum_{k=1}^{n+1} \binom{n+1}{k} \frac{1}{k} \sum_{i=1}^k \frac{(-1)^i}{i}.$$

Proof. We have

$$\sum_{k=1}^{\infty} {n+k \choose k}^{-1} \frac{1}{k^2} = \frac{1}{n+1} \sum_{k=1}^{\infty} {n+k \choose k-1}^{-1} \frac{1}{k}$$

$$= \int_0^1 (1-t)^{n+1} \sum_{k=1}^{\infty} \frac{t^{k-1}}{k} dt + \frac{1}{n+1} \int_0^1 (1-t)^{n+1} \sum_{k=1}^{\infty} t^{k-1} dt$$

$$= -\int_0^1 \frac{\ln(1-t)}{t} dt + \frac{1}{(n+1)^2} + \sum_{k=1}^{n+1} {n+1 \choose k} (-1)^k \int_0^1 \sum_{i=1}^{\infty} \frac{t^{i+k-1}}{i} dt$$

$$= \frac{\pi^2}{6} + \frac{1}{(n+1)^2} + \sum_{k=1}^{n+1} {n+1 \choose k} \frac{(-1)^k H_k}{k},$$

which is the first identity. Next, let us establish the second identity:

$$\begin{split} &\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k^2} = \frac{1}{n+1} \sum_{k=0}^{\infty} \frac{(-1)^{k+1}}{k+1} (n+1+k) \int_0^1 (1-t)^{n+1} t^k dt \\ &= -\int_0^1 \frac{\ln(1+t)}{t} dt - \sum_{k=1}^{n+1} \binom{n+1}{k} \frac{(-1)^k}{k} \ln 2 \\ &+ \sum_{k=1}^{n+1} \binom{n+1}{k} \frac{1}{k} \sum_{i=0}^k \binom{k}{i} (-1)^i \int_1^2 y^{i-1} dy \\ &- \frac{1}{n+1} \sum_{k=0}^{n+1} \binom{n+1}{k} 2^{n+1-k} (-1)^k \int_1^2 y^{k-1} dy \\ &= \frac{2^{n+1}}{n+1} \sum_{k=0}^{n+1} \frac{1}{k2^k} - \ln 2 - \frac{\pi^2}{12} + \sum_{k=0}^{n+1} \binom{n+1}{k} \frac{1}{k} \sum_{k=0}^{n+1} \frac{(-1)^i}{i} \,. \end{split}$$

The proof is complete.

3. Summations involving harmonic numbers

Let $H_k = \sum_{j=1}^k \frac{1}{j}$ be the harmonic numbers. Based on the results given above, we establish in this section several identities involving both the harmonic numbers and the inverses of the binomial coefficients.

Theorem 6. We have

$$\sum_{k=1}^{n} \binom{n}{k} H_k = 2^n H_n - \sum_{k=1}^{n} \frac{1}{k2^k}, \tag{3.1}$$

$$\sum_{k=1}^{n} \binom{n}{k} (-1)^k H_k = \frac{1}{n}, \tag{3.2}$$

$$\sum_{k=1}^{n} \binom{n}{k} \frac{H_k}{k} = H_n \sum_{k=1}^{n} \frac{2^k}{k} - H_n - \sum_{j=2}^{n} \frac{1}{j} \sum_{k=1}^{j-1} \binom{n}{k} \frac{1}{k}, \quad (3.3)$$

$$\sum_{k=1}^{n} \binom{n}{k} \frac{(-1)^k H_k}{k} = -H_n^2 - \sum_{j=2}^{n} \frac{1}{j} \sum_{k=1}^{j-1} \binom{n}{k} \frac{(-1)^k}{k}. \tag{3.4}$$

Proof. Let $f(z) := \sum_{k=1}^{\infty} H_k z^k = \frac{1}{1-z} \ln \frac{1}{1-z}$, then

$$\sum_{k=1}^{n} \binom{n}{k} H_k = [z^n] \frac{1}{1-z} \frac{1}{1-\frac{z}{1-z}} \ln \frac{1}{1-\frac{z}{1-z}}$$
$$= [z^n] \frac{1}{1-2z} \ln \frac{1-z}{1-2z} = 2^n H_n - \sum_{k=1}^{n} \frac{1}{k2^k}.$$

Next, let $g(z):=\sum_{k=j}^{\infty}\frac{z^k}{k}=-\ln(1-z)-\sum_{k=1}^{j-1}\frac{z^k}{k}.$ Since

$$\sum_{k=j}^{n} \binom{n}{k} \frac{1}{k} = [z^n] \frac{-1}{1-z} \ln 1 - \frac{z}{1-z} - \sum_{k=1}^{j-1} \frac{z^k}{(1-z)^k k}$$

$$= \sum_{k=1}^{n} \frac{2^k}{k} - H_n - \sum_{k=1}^{j-1} \frac{1}{k} \sum_{i=0}^{k} \binom{k}{i} (-1)^{k-i} \binom{i+n}{i}$$

$$= \sum_{k=1}^{n} \frac{2^k}{k} - H_n - \sum_{k=1}^{j-1} \frac{1}{k} \binom{n}{k},$$

then

$$\sum_{k=1}^{n} \binom{n}{k} \frac{H_k}{k} = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} \binom{n}{k} \frac{1}{k} = H_n \sum_{k=1}^{n} \frac{2^k}{k} - H_n - \sum_{j=2}^{n} \frac{1}{j} \sum_{k=1}^{j-1} \binom{n}{k} \frac{1}{k}.$$

Analogously, the identities (3.2) and (3.4) can also be obtained. \Box

Theorem 7. We have

$$\begin{split} \sum_{k=1}^{n} \binom{n}{k}^{-1} H_k &= \frac{n+1}{2^{n+2}} H_n \sum_{k=1}^{n+1} \frac{2^k}{k} - \sum_{j=1}^{n} \sum_{i=1}^{j-1} \binom{j-1}{i} (-1)^{j-i} \sum_{k=1}^{n-i} \frac{2^{i+k+1}}{(i+1)k} \,, \\ \sum_{k=1}^{n} \binom{n}{k}^{-1} (-1)^k H_k &= \frac{(-1)^n}{n+2} \frac{1}{n+2} + (n+1) H_n - \frac{n+1}{(n+2)^2} \,. \end{split}$$

Proof. Note that

$$\sum_{k=1}^{n} \binom{n}{k}^{-1} H_k = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} \binom{n}{k}^{-1}$$

and

$$\sum_{k=1}^{n} \binom{n}{k}^{-1} (-1)^k H_k = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} \binom{n}{k}^{-1} (-1)^k.$$

Then by Lemma 4, we can obtain the desired results.

Theorem 8. We have

$$\sum_{k=1}^{n} \binom{n}{k}^{-1} \frac{H_k}{k} = \frac{1}{2^{n+1}} \sum_{k=1}^{n} \frac{2^k}{k} H_k + \sum_{j=1}^{n} \frac{1}{j^2} \sum_{k=j}^{n} \binom{k}{j}^{-1} 2^k,$$

$$\sum_{k=1}^{n} \binom{n}{k}^{-1} \frac{(-1)^k H_k}{k} = \frac{1}{n+1} (-1)^n H_n - \sum_{k=0}^{n-1} \binom{n}{k}^{-1} \frac{(-1)^k}{k+1}.$$

Proof. To establish this theorem, we should notice that

$$\sum_{k=1}^{n} {n \choose k}^{-1} \frac{H_k}{k} = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} {n \choose k}^{-1} \frac{1}{k}$$

and

$$\sum_{k=1}^{n} \binom{n}{k}^{-1} \frac{(-1)^k H_k}{k} = \sum_{i=1}^{n} \frac{1}{j} \sum_{k=i}^{n} \binom{n}{k}^{-1} \frac{(-1)^k}{k},$$

and make use of Theorem 1.

Theorem 9. We have

$$\sum_{k=1}^{n} {n+k \choose k}^{-1} H_k = \frac{n}{(n-1)^2} 1 - {2n-1 \choose n}^{-1} - \frac{n+1}{2(n-1)} {2n-1 \choose n}^{-1} H_n,$$

$$n \ge 2,$$

$$\sum_{k=1}^{n} {n+k \choose k}^{-1} (-1)^k H_k = -n \sum_{j=1}^{n} \frac{(-1)^j}{j} \sum_{k=0}^{n-1} {n-1 \choose k} \sum_{i=j+1}^{n+1} \frac{(-1)^{k+i}}{k+i}.$$

Proof. Note that

$$\sum_{k=1}^{n} \binom{n+k}{k}^{-1} H_k = \sum_{i=1}^{n} \frac{1}{j} \sum_{k=i}^{n} \binom{n+k}{k}^{-1},$$

then by Theorems 2 and 3, we obtain the first identity. Note that

$$\sum_{k=1}^{n} \binom{n+k}{k}^{-1} (-1)^k H_k = \sum_{i=1}^{n} \frac{1}{j} \sum_{k=i}^{n} \binom{n+k}{k}^{-1} (-1)^k,$$

then by Theorem 2, the second identity can also be derived.

Theorem 10. We have

$$\sum_{k=1}^{n} {n+k \choose k}^{-1} \frac{H_k}{k} = \frac{1}{n} \sum_{k=0}^{n-1} {n+k \choose k}^{-1} \frac{1}{k+1} - {2n \choose n}^{-1} H_n,$$

$$\sum_{k=1}^{n} {n+k \choose k}^{-1} \frac{(-1)^k H_k}{k} = \frac{(-1)^n}{2(n+1)} {2n+1 \choose n}^{-1} \sum_{j=1}^{n} \frac{(-1)^j}{j}$$

$$- \sum_{j=1}^{n} \frac{(-1)^j}{j} \sum_{k=0}^{n} {n \choose k} \sum_{i=j}^{n+2} \frac{(-1)^{k+i}}{k+i}.$$

Proof. It is sufficient to notice that

$$\sum_{k=1}^{n} \binom{n+k}{k}^{-1} \frac{H_k}{k} = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} \binom{n+k}{k}^{-1} \frac{1}{k}$$

and

$$\sum_{k=1}^{n} \binom{n+k}{k}^{-1} \frac{(-1)^k H_k}{k} = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{n} \binom{n+k}{k}^{-1} \frac{(-1)^k}{k}$$

and make use of Theorem 3.

Theorem 11. We have

$$\sum_{k=1}^{\infty} {n+k \choose k}^{-1} H_k = \frac{n}{(n-1)^2}, \quad n \ge 2,$$

$$\sum_{k=1}^{\infty} {n+k \choose k}^{-1} \frac{H_k}{k} = \frac{\pi^2}{6} + \frac{1}{n^2} - H_n^2 - \sum_{i=1}^{n} \frac{1}{j} \sum_{k=1}^{j-1} {n \choose k} \frac{(-1)^k}{k}.$$

Proof. First, by Lemma 5 and Theorem 4, we have

$$\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} H_k = \sum_{j=1}^{n} \frac{1}{j} \sum_{k=j}^{\infty} \binom{n+k}{k}^{-1}$$
$$= \frac{n}{n-1} \sum_{i=1}^{n} \frac{1}{j} \binom{n+j-1}{j}^{-1} = \frac{n}{(n-1)^2},$$

which is the first identity. Next, by Theorems 4, 5 and 6, we have

$$\begin{split} &\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{H_k}{k} = \sum_{j=1}^{\infty} \frac{1}{j} \sum_{k=j}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k} = \frac{1}{n} \sum_{j=1}^{\infty} \frac{1}{j} \binom{n+j-1}{n}^{-1} \\ &= \sum_{i=1}^{\infty} \frac{1}{j^2} \binom{n+j-1}{j}^{-1} = \frac{\pi^2}{6} + \frac{1}{n^2} - H_n^2 - \sum_{i=1}^{n} \frac{1}{j} \sum_{k=1}^{j-1} \binom{n}{k} \frac{(-1)^k}{k} \,. \end{split}$$

This gives the second identity.

Theorem 12. We have

$$\begin{split} \sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \sum_{j=1}^{k} \frac{(-1)^{j}}{j} &= \frac{2^{n-1}n}{n-1} \sum_{k=1}^{n-1} \frac{1}{k2^{k}} - \ln 2, \quad n \geq 2, \\ \sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k} \sum_{j=1}^{k} \frac{(-1)^{j}}{j} &= \frac{2^{n}}{n} \sum_{k=1}^{n} \frac{1}{k2^{k}} - \ln 2 - \frac{\pi^{2}}{12} \\ &+ \sum_{k=1}^{n} \binom{n}{k} \frac{1}{k} \sum_{j=1}^{k} \frac{(-1)^{i}}{i} + \frac{1}{n} \binom{2n}{n}^{-1} \ln 2. \end{split}$$

Proof. By Lemma 5, we have

$$\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \sum_{j=1}^{k} \frac{(-1)^{j}}{j} = \sum_{j=1}^{\infty} \frac{(-1)^{j}}{j} \sum_{k=j}^{\infty} \binom{n+k}{k}^{-1}$$

$$= \frac{n}{n-1} \sum_{j=1}^{\infty} \frac{(-1)^{j}}{j} \binom{n+j-1}{j}^{-1} = \frac{1}{n-1} \sum_{j=1}^{\infty} (-1)^{j} \binom{n+j-1}{j-1}^{-1}$$

$$= -\frac{1}{n-1} \sum_{k=0}^{\infty} \binom{n+k}{k}^{-1} (-1)^{k} = \frac{2^{n-1}n}{n-1} \sum_{k=1}^{n-1} \frac{1}{k2^{k}} - \ln 2.$$

This yields the first identity. By Theorems 3 and 5, we have

$$\begin{split} &\sum_{k=1}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k} \sum_{j=1}^{k} \frac{(-1)^{j}}{j} = \sum_{j=1}^{\infty} \frac{(-1)^{j}}{j} \sum_{k=j}^{\infty} \binom{n+k}{k}^{-1} \frac{1}{k} \\ &= \frac{1}{n} \sum_{j=1}^{\infty} \binom{n+j-1}{n}^{-1} \frac{(-1)^{j}}{j} - \binom{2n}{n}^{-1} \sum_{j=1}^{\infty} \frac{(-1)^{j}}{j} \\ &= -\frac{1}{n} \sum_{j=0}^{\infty} \binom{n+j}{j}^{-1} \frac{(-1)^{j}}{j+1} + \frac{1}{n} \binom{2n}{n}^{-1} \ln 2 \\ &= \frac{2^{n}}{n} \sum_{k=1}^{n} \frac{1}{k2^{k}} - \ln 2 + \sum_{k=1}^{n} \binom{n}{k} \frac{1}{k} \sum_{j=1}^{k} \frac{(-1)^{j}}{j} - \frac{\pi^{2}}{12} + \frac{1}{n} \binom{2n}{n}^{-1} \ln 2 \,. \end{split}$$

This gives the second identity.

Acknowledgments

The author would like to thank the anonymous referee for his (her) valuable suggestions and Dr. Weiping Wang for his kind help. The research is supported by the National Natural Science Foundation of China under Grant 11061020 and Natural Science Foundation of Inner Mongolia under Grant 20080404MS010.

References

- [1] D. H. Lehmer, Interesting series involving the central binomial coefficient, Amer. Math. Monthly 92 (7) (1985) 449-457.
- [2] T. Mansour, Combinatorial identities and inverse binomial coefficients, Adv. in Appl. Math. 28 (2) (2002) 196–202.
- [3] B. Sury, Sum of the reciprocals of the binomial coefficients, European J. Combin. 14 (4) (1993) 351-353
- [4] B. Sury, T. Wang and F.-Z. Zhao, Identities involving reciprocals of binomial coefficients, J. Integer Seq. 7 (2) (2004) Article 04.2.8, 12 pp.